
INSTRUCTIONS 
RFK-20 (20” RACK FRAME KIT) 

RFK-26 (26” RACK FRAME KIT) 

 

20" Rack Frame Kit List  26" Rack Frame Kit List 

Rack Frame (A) 20inch 5 set (10 rails)  Rack Frame (B) 26inch 5 set (10 rails) 

Fixing Angle 5 set (10 pcs)  Fixing Angle 5 set (10 pcs) 

Screw (4x6mm) 5 set (20 pcs)  Screw (4x6mm) 5 set (20 pcs) 

1U COVER 10 pcs  1U COVER 10 pcs 

2U-L COVER 5 pcs  2U-L COVER 5 pcs 

2U-R COVER  5 pcs  2U-R COVER  5 pcs 

3U-L COVER  5 pcs  3U-L COVER  5 pcs 

3U-R COVER  5 pcs  3U-R COVER  5 pcs 

4U-L COVER  1 pc  4U-L COVER  1 pc 

4U-R COVER  1 pc  4U-R COVER  1 pc 

Instruction sheet 1  Instruction sheet 1 

* Frame fixing screws are not included in the kit  * Frame fixing screws are not included in the kit 

 

This Rack Frame Kit is for ROTEL 15 Series components only. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Please see back page 

 

STEP 1: (Drawing 1) 

Attach the rack rails to the left and right sides using a screw with 10-32 thread. (Not 

included in the kit) 

 

STEP 2: (Drawing 2) 

Remove the feet from ROTEL component. Slide the ROTEL component slowly in to 

the rack until the lower edge of front panel touches the bottom of the rail. Do not try 

and push the product beyond this point. 

 

 

STEP 3: (Drawing 3) 

Attach the “L” bracket to stop the component sliding back using the affixed screw (4 

x6mm), then screw it to Rack Frame by using (4 x 6mm) screw. 

 

 

STEP 4: (Drawing 4) 

Finish off by fixing the correct cover plate using screw with 10-32 thread. (Not included 

in the kit)  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

082 OMFRK20_26 MANUAL 081113 



1 3

42

(1)

(2)


